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(D 3400009 = kg
@ lkg 70g = g
@ 10lkg = g

@ 8008 g = kg g
® 5090 g = kg g
® 108000g = kg
@ 47kg 800g = g
10600 g = kg g
@ 900000g = kg
5690 g = kg g
@ 18000g = kg
@ 9kg 500g = g
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® | lkg =

@ 420kg =

® 50300 g =

©® 7kg =

D 4kg 2g =

130000g =

4000g =

@ 7kg 30g =

@ 34600 g =

@ 20000g =

@ 1200g = kg

@ 60kg =
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B ECEIIREIIIEFEANEILL),

(D 340000g = 340 kg
@ lkg 70g = 1070 g
@ 10lkg =| 101000 g

@ 8008g = 8 kg 8 g
® 5090g = 5 kg 90 ¢
® 108000g = 108 kg
@ 47kg 800g = | 47800 g
® 10600g =| 10kg 600 g
@ 9000009 = 900 kg
5690g = | 5 kg 690 g
@ 18000g = 18 kg
@ 9kg500g =| 9500 g
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® Ilkg = 11000 g

@ 420kg = | 420000 g

® 50300g = 50 kg 300 g
7kg =| 7000 g

) 4kg2g = 4002 g
130000g = 130 kg
4000g = 4 kg

@ 7kg 30g =| 7030 g
@ 34600g =| 34 kg 600 g
@ 20000g = 20 kg
@ 1200g = | | kg 200 g
@ 60kg =| 60000 g




